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Verification of the fertilization Subsystem of Bean

1 Introduction

This verification report is oriented towards testing the usability of the
system. The activities used to produce this report are as follows:

l.

Verify the user interface.

2. Verify the test cases

3.

Generate Random test cases

2 Use Interface

The system has database of the bean fertilization, so the package must
add this database to the ODBC.

The system display this prompt that is not found in the
implementation report
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There is no validation for the plantation date in the system, so the
system accept in date in its plantation date.

The button exit in the main display does not close the opened display
of the database.

During entry the system, the user does not see the data in the data
base, so the system must inform him to update the data or oblige him
to enter the database first.

The label of the units and its value must be in the same column in the
output display.
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e There are no test for the numeric fields in the display of database of
the farm data, so the character entry in these fields give bugs.
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& Run-ktime error 'S34=21"
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3 Test cases

e The fertilizer Arabic name “<lawd s must be corrected in the
knowledge
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Verification of the fertilization Subsystem of Bean

Other test cases
Case 1
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Case 2:
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Case 3: this bug is displayed in the next case:
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Case 4:
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Case 7:
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4 Random test cases

No comment
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5 Conclusion
The system is acceptable after doing the necessary correction.
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